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	Work/Diagram
(The Proof)
	All work is shown and is easy to decipher. This can be either a mathematical proof or a non-linguistic representation.
	All work is shown but is difficult to decipher. This can be either a mathematical proof or a non-linguistic representation.
	Most work is shown but is missing a few key elements. 
	Very little work is shown. 

	Explanation
	Explanation is detailed and clear. 
	Explanation is clear. 
	Explanation is difficult to understand but includes critical components. 
	Explanation is difficult to understand and is missing critical components. 

	Conventions
	All conventions are correct. 
	1 – 3 conventional errors. 
	4 – 6 conventional errors. 
	More than 6 conventional errors. 

	Accuracy
	Answer is correct and labels are included where appropriate.
	Answer is correct but labels are missing. 
	Answer is partially correct or label is missing. 
	0 – Answer is completely incorrect. 

	Real-World Connection
	Solid real world connection is made that is different from the problem. 
	Solid real world connection is made that is similar to the problem. 
	Real world connection does not make sense. 
	0 – No real world connection is made. 
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